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0 3 Some children chose their favourite ice-cream flavour from chocolate, vanilla, strawberry and banana.
Some of the results are shown in the pie chart below.

Chocolate

(a) 8 children chose chocolate. . Mob: 497455373670 / 35787500
-mall:chymre.muhammad@gmait.com
Work out the total number of children.
.................................................. [2]
(b) Work out how many children chose vanilla.
.................................................. (2]
(¢) The rest of the children chose strawberry or banana.
Twice as many children chose strawberry as chose banana.
Use this information to complete the pie chart.
(2]
(d) Write down the flavour of ice-cream that is the mode.
.................................................. [1]
© UCLES 2017 0580/33/M/)/17




0 4 The shirt colour of the teams in a football league are shown in the following table.

For
* Examiner's
Use
Colour Frequency
Red 8
White 3
Blue 7
5 133787500
Gold 2 e e

The pie chart shows some of this information.
The sectors for red shirts and white shirts have been drawn.

(a) Calculate the angle of the sector for blue shirts.

ARSWEr(a) | .....omrrrresserrensesiressseenns (2]

(b) Complete the pie chart. [1]

© UCLES 2012 0580/12/M/J/12 [Turn over
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5 All the children in a school are asked to choose their favourite colour.
The pie chart shows the results.

Mob: +974 55373670 / 33787500
E-mnl|:chymrc.muhammad@gmall.cum

Yellow

(a) Write down the least favourite colour chosen.

ANSWer(a) .......cococoveeeiiiiiieiieeeeeenns [1]
(b) 27 children choose yellow as their favourite colour.
Work out the total number of children in the school.
Answer(b) ......oooooooiiiiieeeeeee [3]
(¢) Work out the percentage of the children in the school who choose red.
ANSWer(c) ..cooooeiviiiiiiiieeeeeee, % [2
© UCLES 2015 0580/31/M/J/15




16 Abag contains different coloured counters,
Sasha takes a counter at random, records its colour, and replaces it.
She does this 90 times and records her results in the pie chart below.

3 Mob: 4874 55373670 / 33787500
Foptan ?:'»hym='<:.muhs&mmad@gmallsom

(@) Write down the relative frequency of Sasha choosing a red counter.

Answer(a)

(b) Work out the number of times a green counter is chosen.

ANSWET(B) ..o [3]

© UCLES 2014
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7 120 people are asked how they travel to work.

The pie chart shows the results.

Mob: +974 55373670/ 33787500
E-maii:chymrc.muhammad@gmall.com

Cycle

Bus

Walk

Car

(a) (i) Show that 45 people travel by car.

Answer(a)(i)

(2]
(i) A person is chosen at random from the 120 people.
Find the probability that this person travels to work by bus or by car.
Answer(@)(i1) ..oocoovveeerieeieeoeeeeeeeeee [2]

© UCLES 2014 0580/31/M/3/14




(b) One year later, the same 120 people were again asked how they travel to work.

Here is the information.

Number of people
Walk X
Cycle 31
Bus

17 more than the number of people who walk

Car 2 times the number of people who walk
() Use this information to complete the following equation, in terms of x.
............................................................................................. =120 [3]
(i)  Solve the equation to find the number of people who walk to work.
Answer(b)(11) .ooooovoieeeieeeooeeeeeeee [3]
© UCLES 2014 0580/31/M/1/14 [Turn over




08 (a) The colours of the cars at a car centre are red, blue, green, black and white.

- ] . For
The pie chart shows some information about the number of cars of each colour.

Examiner's
Use

() There are 60 red cars.
Show that the total number of cars is 270.

Answer(a)(i)

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmall.com

(2]
(i) Calculate the number of blue cars and the number of green cars.
Answer(a)(ii) Blue e
12 (3]

© UCLES 2012 0580/32/0/N/12




0 G (a) Some children are asked what their favourite sport is.
The results are shown in the pie chart.

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmuﬂcom

Swimming

Gymnastics

(i) Complete the statements about the pie chart.

The sector angle for running is .................. degrees.

The least popular SPOrt is ......cvvvevecvevveceieereeeeeeeeeernns

% of the children choSe ............coooovvvevooveeeceese

Twice as many children chose ............cococoooveeeroveeveni, AS it
(i) Five more children chose swimming than hockey.

Use this information to work out the number of children who chose gymnastics.

ANSWer(@(I1)c.oeeecivieeiieieeeeeeeveeeeeeen

© UCLES 2015 0580/32/0/N/15




[1 (0. (@ The pie chart shows how 120 students travel to school.

Bus Car

Mob: +974 55373670 / 25787500
E-mail:chymrec.muhamradégpmall.com

138°

-
(i) Measure the sector angle for the students who travel to school by car.
ANSWEr(a)(1) ooveviiiiiiiiieeieeeeeeeeeeevee [1]
(ii) What fraction of the students cycle to school?

AnSwer(a@(i1) woooecvveeiieieieieeeeeeeeeeee, [1]

- (iii) Calculate how many students walk to school.
Answer(@)(111) woovoveveerieiiiieeeeeeeeee e, 2]

-
© UCLES 2015 0580/13/0/N/15




j 1  Last season the team played a total of 45 matches.
The table shows the results of these matches.

Result | Number of matches | Pie chart sector angle

Won 20 160°
Mob: +974 55373670 / 33787500
DraWn 1 5 E-malt:chymre.muhammad@gmall.com
Lost 10
(i) Complete the table. [3]
(ii) Complete the pie chart.
(1]
(e) The table shows the total attendance figures for all the teams in the league for two seasons.
Season Total attendance
A4 9.76 x 10°
B 1.36 x 107
Work out how much greater the attendance was in season B than in season A.
Give your answer in standard form.
ANSWEF(€) oo, [2]

© UCLES 2015 0580/31/0/N/15 [Turn over




1 2 The table shows how Juan and his family spent their time in Rio de Janeiro.

. 1
I Activity Percentage of time Sec;c)c;z il;il; na ;
Watching soccer 10 { 36° |
Sleeping | f 108° '
Shopping ‘i i
Beach 25 ! 90°
‘Ether 15 J 54°
(i) Complete the table. [3]

(i) Complete the pie chart.

Watching

Other soccer

(1]

© UCLES 2016 0580/31/0/N/16 [Turn over




‘2 & Mrs Ali spends a total of $9000 on the following items.

Amount spent ($) | Angle in pie chart
Holiday 4050 162°
Television 90°
Clothes 1800 72°
Computer

() Complete the table.

(ii) Complete the pie chart.

Label each of your sectors.

Mob: +974 55373670 / 33787500
E-mali:chymrc.muharmmad@gmall.com

Holiday

(2]

© UCLES 2012
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